

The Effect of Water Application Levels on the Nutritional Value of Maize (*Zea mays* L.) Forage under Biochar-Amended Vertisol Soil in Kupang Regency, East Nusa Tenggara

Masria Masria^{1,✉}, Maria Klara Salli¹, Magfira Syarifuddin¹, Cokorda Bagus Dharma Putra Mahardika¹, Jemseng Carles Abineno¹

¹ Department of Dry Land Farming Management, Kupang State Agricultural Polytechnic, INDONESIA.

Article History:

Received : 19 July 2025
Revised : 30 August 2025
Accepted : 10 September 2025

Keywords:

Biochar,
Maize forage,
Nutritional value,
Vertisol soil,
Water application levels.

Corresponding Author:

✉ masriadimyati@yahoo.co.id
(Masria)

ABSTRACT

*This study aimed to examine the effect of different water levels on the growth and nutritional value of maize (*Zea mays* L.) forage grown on Vertisol soil amended with corncob biochar. The research was conducted in Oesao Village, Kupang Regency, East Nusa Tenggara. Biochar was produced by pyrolyzing corncobs at 300–600°C and applied in the soil at 6% by weight. The experiment used a Completely Randomized Design with four water levels (K1 = 100%, K2 = 90%, K3 = 80%, K4 = 70% of field capacity) and six replications for measuring plant growth. Soil property and proximate analyses were conducted using composite samples with three replications. Chemical properties of biochar, initial and post-treatment soil properties, plant growth (height, number, and leaf area), and forage nutritional quality were analyzed. The results showed that treatment K4 improved soil chemical properties including organic carbon, P₂O₅, cation exchange capacity (CEC), and exchangeable cations. Treatment K1 produced the best vegetative growth with the most leaves, leaf area, and plant height. Meanwhile, treatment K3 resulted in the best forage nutritional quality, with the highest nitrogen, crude protein, and crude fat content and the lowest crude fiber content. Overall, treatment K3 was considered the most optimal because it balanced plant productivity and forage quality.*

1. INTRODUCTION

East Nusa Tenggara is one of Indonesia's leading beef cattle producers. Data from the Directorate General of Livestock and Animal Health Services shows that the region supplies cattle to several major cities, including Greater Jakarta (Jabodetabek). The Livestock Service of East Nusa Tenggara Province recorded that in 2024, the number of cattle shipments leaving the province reached 45,670 heads. The three highest supplying regions include Timor Tengah Selatan Regency with 9,704 heads, Kupang Regency with 8,394 heads, and Timor Tengah Utara Regency with 7,885 heads (Antara NTT, 2025).

Beef cattle production in East Nusa Tenggara (NTT) can still be improved by enhancing nutrition, including using forage from maize plants. This forage can be derived from maize biomass, which accounts for approximately 50% of the total plant weight (Farda *et al.*, 2020). In NTT, maize is cultivated mainly on drylands covering 3.3 million hectares, many of which consist of Vertisol soils (Mulyani, 2013). However, dryland cultivation often faces drought stress, which negatively affects plant growth and reduces the quality of forage for livestock. Shi *et al.* (2010) explain that water deficiency disrupts plant growth, reduces photosynthesis, and inhibits root development, leading to lower yields and seed quality (Ghazi, 2017). Furthermore, this stress also decreases the nutrient content in maize seeds, affecting their quality (Poudel, 2023).

Adding biochar to the soil is one solution to drought stress. Field studies on vertisol soils in China showed that the combination of tillage and biochar application significantly improved nutrient content (N, P, C, and K), soil microbial structure, and crop yields (Chen *et al.*, 2022). Biochar has been proven to enhance vertisol soils' texture and shallow clay layers, increasing water and nutrient retention in the subsoil layers. Further research also revealed that land treated with biochar produced crops with higher yields, a more balanced soil pH, and better nutrient content and water retention than other soil amendments such as compost and chemical fertilizers. Therefore, biochar is the most effective soil amendment in improving soil quality and supporting sustainable agriculture (Al-Fatlawy *et al.*, 2025).

One solution to overcome drought stress is the addition of biochar to the soil, which can improve water availability and the nutritional quality of forage. Corn forage is considered an excellent feed source for cattle as it contains high levels of essential nutrients such as carbohydrates, protein, and fat, along with relatively low crude fiber content, making it highly digestible for ruminants (Widiastuti *et al.*, 2022). Furthermore, corn leaves and stems can be processed into silage with high moisture content and rich energy values, which is particularly beneficial during the dry season when forage availability is limited (Mulianti, 2024). The enhancement of nutritional components in corn leaves, such as protein and energy content, positively contributes to livestock productivity in terms of growth performance and meat production (Nurtanti *et al.*, 2025).

Corn cobs are a readily available biochar material around agricultural lands. Referring to the data on the harvested area of maize in Kupang Regency in 2023, which is 11,385 hectares (BPS, 2024), and based on the dry matter formula by Syamsu *et al.* (2003) and Arief *et al.* (2012) in Mulyanti (2025), the potential corn cob production in Kupang Regency each year can reach around 1,024.65 tons. The addition of 6% corn cob biochar in the soil has positively affected soil chemical properties (Masria *et al.*, 2021). In addition, corn cob biochar also enhances water availability for plants (Masria *et al.*, 2018). Using biochar as a soil amendment in forage production can improve soil fertility by increasing water retention and nutrient availability. Moreover, biochar can improve the nutritional composition of livestock feed, thereby supporting animal growth and health (Nair *et al.*, 2023). This research aims to evaluate the effects of different levels of water supply on the growth and nutritional value of maize forage as livestock feed and to determine the optimal water supply level to improve water use efficiency, especially in arid regions. The results of this study are expected to provide scientific information and practical recommendations for farmers and livestock breeders in managing water resources and feed sustainably, thereby improving feed quality, productivity, and the competitiveness of livestock businesses.

2. MATERIALS AND METHODS

2.1. Preparation of Corn cob Biochar

Biochar production from corn cobs was conducted using a rotary drum apparatus. The process began with chopping and drying the corn cobs to reduce their moisture content. Once dried, the chopped cobs were placed into the rotary drum and subjected to pyrolysis at temperatures ranging from 300 °C to 600 °C for four hours. Upon completion of the heating process, the resulting biochar was removed from the reactor and quenched with water to prevent further combustion and potential ash formation. The biochar was subsequently dried for 24 hours and ground to a fine consistency, with particles passing through a 2 mm sieve before its application as a soil ameliorant.

2.2. Soil Sample Preparation

Soil sampling was conducted in Oesao Village, East Kupang District, Kupang Regency, located at coordinates 10.12566° S and 123.81556° E, 51 meters above sea level, and approximately 36 km from Kupang City. The site is characterized by flat to gently undulating land with a slope gradient ranging between 0 % and 3 %. The collected soil samples are classified as Vertisols (Masria *et al.*, 2021) and were obtained from a depth of 0–20 cm. After collection, the soil samples were air-dried, ground, and sieved using a 2 mm mesh. Subsequently, 12 kg of soil were placed into polybags, and then treated with corn cob biochar at 6% (w/w), equivalent to 720 g, and incubated for two weeks before planting.

2.3. Planting

Maize seeds were sown in polybags measuring 20 × 50 cm, with three seeds planted per bag using the dibble method at 2–3 cm depth. After germination, thinning was performed to retain two healthy plants per polybag for observation.

2.4. Sample Observation

Soil moisture content was regulated by daily weighing the samples according to their respective weights. Irrigation was applied until the plants entered the generative phase, which was marked by the complete emergence of tassels (male flowers), approximately 60 days after planting. Harvesting at 60 days after planting (DAP) was conducted without waiting for the physiological maturity stage of the grains, as at this age, the accumulation of dry matter and the nutritive value of the forage—particularly crude protein and total digestible nutrients (TDN)—are relatively high and considered optimal for ruminant feed (Harianti, 2023).

2.5. Observation Parameters

The chemical properties of the biochar analyzed included: Soil organic carbon (%) using the Walkley-Black method, total nitrogen (%) using the Kjeldahl method, available phosphorus P_2O_5 (ppm) using extraction with Olsen, cation exchange capacity (me/100 g) using extraction using ammonium acetate (NH_4OAc) solution, base saturation (%) calculated based on CEC analysis results and content of base cations (Ca^{2+} , Mg^{2+} , K^+ , Na^+), exchangeable cations (me/100 g) using extraction with ammonium acetate pH 7, followed by analysis of Ca, Mg, K, Na ions and pH H_2O using a pH meter measurement method. Plant growth components including number of leaves, leaf area (cm^2), and plant height (cm). The nutritional quality of forage (based on proximate analysis) included: plant dry weight, ash content, nitrogen content, crude fat, and crude fiber.

2.6. Data Analysis

This study utilized a single-factor experimental design, wherein the treatment consisted of four different levels of water application: K1 representing 100% field capacity, K2 at 90% field capacity, K3 at 80% field capacity, and K4 at 70% field capacity. Each treatment was replicated six times. Plant growth parameters were measured individually for all six replications. Composite sampling was employed for the analysis of chemical properties following the treatments and for the proximate analysis of plants. Two replications were combined to form a single composite sample to minimize variability and enhance cost efficiency. Consequently, three composite samples were analyzed per treatment for soil and proximate evaluations. Data were subjected to analysis of variance (ANOVA), and when significant differences between treatments were detected, the least significant difference (LSD) test was applied as a post hoc procedure.

3. RESULTS AND DISCUSSION

3.1. Chemical Properties of Corncob Biochar

The chemical properties of corncob biochar were analyzed to understand the fundamental characteristics of the material used as a soil amendment. These chemical properties play a crucial role in determining the effectiveness of biochar in enhancing soil quality and supporting plant growth. The parameters evaluated included pH, Soil organic carbon content (SOC), and cation exchange capacity (CEC). Data presented in Table 1 indicate that the corncob biochar contains 32.41% organic carbon, 1.55% total nitrogen, a favorable cation exchange capacity, and a neutral to slightly alkaline pH. Despite being produced through a relatively simple pyrolysis process, the biochar proved effective in improving soil fertility, enhancing water retention, and promoting soil microbial activity. A CEC value of 47.16 me/100 g and a pH of 7.9 suggest that the biochar has a strong capacity to retain nutrients essential for plant uptake. These findings are consistent with those reported by Sukmawati (2020) and Rattanaphaiboon *et al.* (2022), who observed that corncob biochar possesses high levels of organic carbon and CEC, making it suitable for soil amendment purposes. Corncob biochar has high levels of organic carbon and CEC, making it ideal for soil amendment.

Table 1. Chemical properties of corn biochar

Property	Unit	Value
Soil Organic Carbon	%	32.41
Total Nitrogen	%	1.55
Cation Exchange Capacity (CEC)	me/100 g	47.16
pH (H_2O)	--	7.9

3.2. Initial Soil Properties

Before applying biochar, an analysis of the soil's initial chemical properties was conducted to establish a baseline for evaluating the treatment's effectiveness. Key chemical parameters, including pH, Soil organic carbon content, concentrations of primary macronutrients (N and P), Base Saturation, and cation exchange capacity (CEC), were assessed to characterize the initial fertility status of soil. These baseline data serve as a critical reference point for identifying changes resulting from the biochar application. The results of the initial soil analysis indicated that the levels of organic carbon and total nitrogen were classified as very low. At the same time, base saturation was high, available phosphorus (P_2O_5) was very high, CEC was high, and the soil pH (measured in H_2O) was neutral. A detailed summary of these findings is presented in Table 2.

Tabel 2. Initial soil chemical properties

Property	Unit	Value	Criteria
Soil Organic Carbon	%	0.51	Very Low
Total Nitrogen	%	0.06	Very Low
Base Saturation	%	71.12	High
P_2O_5	ppm	31.35	Very High
CEC	me/100 g	34.62	High
pH (H_2O)	--	7.31	Neutral

The low levels of organic carbon and nitrogen in Vertisol soils are attributed to a combination of inherent factors and environmental conditions. One of the primary causes is the high smectite clay content (Hamadjida *et al.*, 2022), which exhibits significant swelling and shrinking capacity, leading to pedoturbation that accelerates the mineralization of organic matter (Utomo, 2016). Additionally, smectite clay's large specific surface area results in strong binding of organic particles, making them less accessible for microbial decomposition (Prasetyo, 2007; Purwanto *et al.*, 2014). The extreme monsoonal climate also plays a role, as prolonged dry seasons cause deep soil cracking that increases aeration and oxidation of organic matter, while rainy seasons with frequent waterlogging promote denitrification, reducing nitrogen availability (Utomo, 2016).

Physical and chemical properties of vertisol soil also contribute to its low organic matter content. Its heavy clay texture hinders root development and vegetation growth, limiting natural input for organic matter (Utomo, 2016). In addition, intensive tillage practices without incorporating organic amendments accelerate soil organic carbon depletion (Arvienda *et al.*, 2023). From a chemical perspective, the neutral to alkaline soil pH (ranging from 6 to 8.5) promotes the mineralization of organic matter. At the same time, a low C/N ratio (< 12) further accelerates organic matter decomposition (Purwanto *et al.*, 2014). Furthermore, the high cation exchange capacity (30–50 me/100 g) leads to strong adsorption of ammonium ions, thereby reducing nitrogen availability for plant uptake (Prasetyo, 2007).

Table 3. Effect of moisture content on soil chemical properties

Treatment	SOC (%)	TN (%)	P_2O_5 (ppm)	CEC (me/100 g)	EDC (me/100g)	Base Saturation (%)	pH ()
K1	0.55 b	0.07	34.94 b	35.01 c	0.66 c	70.50 b	7.30
K2	0.62 b	0.07	40.24 b	38.73 b	1.03 b	71.53 b	7.27
K3	0.70 a	0.09	51.74 a	40.42 a	1.22 a	81.74 a	7.31
K4	0.79 a	0.10	53.13 a	40.52 a	1.24 a	82.86 a	7.32
<i>p-value</i>	0.0024	0.336	0.0024	0.000	0.000	0.008	0.828
LSD (5%)	0.098	--	8.3	0.091	0.15	7.43	--

Note: Numbers followed by the same letter indicate that the values are not significantly different at the 5% test level.

3.3. Effect of Water Levels on Soil Chemical Properties

Table 3 shows effect of treatments (K1, K2, K3, K4) on the chemical properties of soil. Based on the ANOVA, it can be concluded that the treatments significantly affected ($p < 0.05$) several soil chemical properties. The parameters included soil organic carbon (SOC) with $p = 0.0024$, P_2O_5 ($p = 0.0024$), cation exchange capacity (CEC) ($p = 0.000$), base

saturation ($p = 0.008$), and exchangeable divalent cations (EDC) ($p = 0.000$). In contrast, total nitrogen content ($p = 0.336$) and soil pH ($p = 0.828$) did not show significant differences among treatments, indicating that the treatments did not produce a significant effect on these two parameters.

Overall, treatment K4 (70 % field capacity) demonstrated the most favourable effects on the majority of soil parameters, as reflected by the highest values recorded for soil organic carbon (0.79), P_2O_5 (53.13), CEC (40.52), base saturation (82.86), and exchangeable divalent cations (1.24). This suggests that treatment K4 (70 % field capacity) was the most effective in enhancing the chemical properties of the soil in this study. Although statistically not significantly different for total nitrogen, a decrease in water content appears to increase the percentage of total nitrogen in the soil.

Applying biochar improved soil chemical properties through its unique structural and functional mechanisms. The K4 treatment (70 % at field capacity) yielded the highest results due to several synergistic contributing factors. The application of corncob biochar at a rate of 6% by total soil weight significantly increased the organic carbon content from 3.21% to 3.86% (Masria *et al.*, 2021). This increase directly contributed to the enhancement of cation exchange capacity (CEC), as the negative charges on the surface of biochar organic particles enabled the soil to retain more essential cations such as Ca^{2+} , Mg^{2+} , and K^+ (Kabir *et al.*, 2023).

Biochar also plays a significant role in maintaining soil pH at neutral levels, thereby enhancing the availability of nutrients such as phosphorus (Masria *et al.*, 2021). The fine porous structure of biochar provides a large surface area for nutrient adsorption, resulting in significantly improved nutrient retention and base saturation. Furthermore, the combination of biochar application with low water levels has increased soil porosity from 56.49% to 69.12% and reduced bulk density from 1.2 g/cm³ to 0.8 g/cm³ (Masria *et al.*, 2018). These physical changes directly improve soil aeration, accelerating the mineralisation of organic matter. Such conditions also help reduce nutrient leaching, allowing nutrients to remain available in the soil longer. Therefore, using biochar—particularly under low water conditions—is an effective strategy for improving the soil's chemical and physical quality in an integrated manner. This demonstrates that biochar can significantly enhance soil conditions even under minimal water input.

3.4. Effect of Water Levels on Vegetative Plant Growth

Based on the results of the ANOVA test in Table 4 on three vegetative components of maize plants—number of leaves, leaf area, and plant height—it is evident that moisture content treatment significantly affects maize vegetative growth. This is confirmed by the p -values for all parameters being much lower than 0.05, explicitly $p = 0.0028$ for number of leaves, and $p = 0.000$ for leaf area and plant height). This indicates that the differences among moisture content treatments are statistically highly significant. The 5% LSD test also shows that the K1 treatment gave the highest values for all growth components. At the same time, K4 produced the lowest results, suggesting that moisture content treatment strongly determines the optimal vegetative growth of maize. Thus, these data demonstrate that precise moisture content regulation is crucial for increasing the number of leaves, leaf area, and plant height of maize plants. The K1 (100 % Field Capacity) treatment, which has the optimal moisture content, effectively supports maximum vegetative growth, while suboptimal moisture content, such as in K4 (70 % Field Capacity), tends to limit plant development.

Table 4. Effect of moisture content on the vegetative growth of maize plants

Treatment	Vegetative Components of the Plant		
	Number of Leaves	Leaf Area (cm ²)	Plant Height (cm)
K1	12.83 a	329.25 a	213.83 a
K2	12.67 a	308.50 b	196.17 b
K3	12.33 a	303.18 c	170.21 c
K4	11.67 b	232.83 d	144.83 d
<i>p-value</i>	0.0028	0.000	0.000
LSD 5%	0.592	1.27	2.07

Numbers followed by the same letter indicate that the values are not significantly different at the 5% test level.

Plants exhibit physiological and morphological responses under drought conditions as adaptive mechanisms to cope with, avoid, or neutralize the adverse effects. Drought stress affects maize's growth, yield, and quality by inhibiting key

physiological processes such as photosynthesis and transpiration, ultimately leading to reduced vegetative growth and lower yields (Poudel, 2023). Drought stress has also been shown to reduce chlorophyll content 30 and 60 days after planting and increase proline accumulation in sweet corn (Poudel, 2023). Furthermore, the impact of drought stress on maize growth, development, and yield disrupts essential physiological functions, including photosynthesis, respiration, and nutrient uptake, resulting in diminished vegetative growth (Deribe, 2023).

Plants experiencing water deficiency tend to be smaller than well-watered plants. Water shortage during the vegetative growth stage is often visibly manifested by a reduction in leaf area (Latif *et al.*, 2023). Water stress affects both the physiological and biochemical processes of the plant (Islami & Utomo, 1995), disrupting mitotic activity (cell elongation and expansion), which ultimately leads to reductions in plant height, leaf area, and overall growth (Hussain *et al.*, 2021). Soil moisture levels significantly influence the vegetative growth of maize plants. The K1 treatment (100% field capacity) produced the best leaf number, leaf area, and plant height results, followed by K2 (90% field capacity). In contrast, the K4 (70% field capacity) treatment exhibited the lowest growth performance due to drought stress. Water deficiency hampers essential physiological processes such as photosynthesis, respiration, and nutrient uptake, reducing vegetative growth. The impact is evident in the decreased leaf area, plant height, and overall plant size.

3.5. Effect of Water Levels on Proximate Composition

The proximate components analyzed included dry weight, ash content, total nitrogen, crude protein, crude fat, and crude fiber, as shown in Table 5. Based on the analysis of variance (ANOVA) results in the table, moisture content significantly affected several proximate parameters of corn forage, namely dry weight, ash content, crude fat, and crude fiber ($p < 0.05$). Treatment K4 (70% field capacity) yielded the highest values for dry weight and ash content. In comparison, K3 (80% field capacity) showed a relatively high increase in crude fat without an excessive rise in crude fiber content. On the other hand, although nitrogen and crude protein levels did not differ significantly statistically ($p > 0.05$), there was a tendency for an increase in both components with decreasing moisture content. This is evidenced by the gradual increase in nitrogen and crude protein values from treatment K1 (100% field capacity) to K3 (80% field capacity). These findings indicate that biochar application has the potential to enhance nitrogen and crude protein content, consistent with the study by Khan *et al.* (2022), which reported that biochar application can increase nitrogen and protein content in wheat grown on calcareous soils, such as vertisols.

Table 5. Effect of moisture content on proximate test components of corn forage

Treatment	Proximate Test Components (%)					
	Dry Matter	Ash Content	Nitrogen	Crude Protein	Crude Fat	Crude Fiber
K1	18.35 b	10.72 b	1.61	10.07	2.93 b	27.81 a
K2	20.45 b	11.67 b	1.76	10.93	2.57 b	28.31 a
K3	21.51 b	12.99 ab	1.86	11.61	3.40 ab	27.62 a
K4	28.17 a	13.19 a	1.81	11.32	3.64 a	26.12 b
<i>p-value</i>	0.0002	0.012	0.069	0.065	0.018	0.047
LSD	2.76	1.42	--	--	0.63	1.51

Numbers followed by the same letter indicate that the values are not significantly different at the 5% test level.

Considering all the analysed parameters, treatment K3 (80 % field capacity) can be regarded as the best treatment. This treatment produced the highest nitrogen content (1.86%) and crude protein (11.61%) compared to other therapies, supported by high oil fat content that was still within optimal limits. In addition, the crude fiber content in K3 (80 % field capacity) was relatively low, indicating good forage quality for animal feed. Therefore, reducing the moisture content to the level in treatment K3 (80 % field capacity) can enhance the overall nutritional quality of corn forage.

Dry Matter

Dry Matter is a key indicator in assessing plant growth and productivity, as it reflects biomass accumulation resulting from physiological activities such as photosynthesis and respiration. Salisbury & Ross (1992) emphasised that this parameter provides accurate quantitative data related to plant tissue growth. Water availability is an essential factor influencing dry weight, as water plays a role in nutrient dissolution and transport, as well as determining the

physiological efficiency of plants. Water deficiency causes a decrease in dry weight due to a reduction in the photosynthesis rate caused by stomatal closure and disrupted nutrient absorption. [Wahono *et al.* \(2018\)](#) research on soybean plants showed that water content significantly affects fresh and dry weight, constituting more than 80% of the fresh weight of plant tissues. Furthermore, [Nurjanaty *et al.* \(2019\)](#) added that dry weight results from the balance between photosynthesis and respiration, which highly depends on water availability and nitrogen content in plant tissues.

Applying biochar has been proven to increase water availability in the soil, ultimately contributing to increased plant dry weight, especially under limited water supply conditions. Biochar has a porous structure with a large surface area, allowing an increase in water retention capacity in the topsoil layer ([Agviolita *et al.*, 2021](#); [Anwar *et al.*, 2024](#)). Besides improving soil physical properties and reducing water loss due to evaporation, biochar also helps maintain stable plant water availability. This supports plants in sustaining growth even under water stress conditions ([Nurlaeny *et al.*, 2023](#)). Biochar also enhances the root system's water and nutrient absorption efficiency, thereby supporting metabolic and photosynthetic processes. Thus, plants can produce biomass optimally and achieve high dry weight even under water deficiency conditions ([Hidayatullah *et al.*, 2023](#); [Agviolita *et al.*, 2021](#)).

Ash Content

Based on the analysis results, the K4 (70% field capacity) and K3 (80% field capacity) treatments showed the best results in terms of ash content in the feed. Ash content reflects the total amount of inorganic minerals remaining after all organic matter in the feed has been completely burned. According to the Indonesian National Standard SNI 3148.2 ([BSN, 2009](#)), the maximum allowable ash content in ruminant feed is 12% of the total material. Ash content is closely related to the mineral content of organic matter. Therefore, a decrease in ash content may indicate an increase in other nutrients such as protein, fat, carbohydrates, and vitamins. Ash in feed also plays a role in identifying essential minerals needed to support animal health, growth, and immunity. The K4 (70% field capacity) treatment, which involved adding 6% biochar, produced the most optimal results in increasing the feed's ash content. Biochar is derived from mineral-rich biomass and processed in preserve its mineral content. Due to these properties, biochar not only increases ash content in feed but also has the potential to enrich mineral content in soil and plant mineral content ([Kalus *et al.*, 2019](#)).

Crude Fat

The highest crude fat content was obtained in treatment K4 (70 % field capacity). Crude fat in forage feed is a dense energy source, helps absorb fat-soluble vitamins, and enhances feed palatability. In addition, fat supports various metabolic processes, skin and coat health, and contributes to livestock's overall welfare and productivity. Biochar can improve feed palatability and crude fat intake by altering the physical and chemical properties of the feed and influencing gut microbiota that support fat fermentation. Meta-analysis results show that biochar contributes to increased crude fat levels, which support livestock growth, performance, and health ([Qomariyah *et al.*, 2023](#)).

Crude Fiber

The analysis showed no significant differences in crude fiber content between treatments K1 (100 % field capacity) and K3 (80 % field capacity); a significant difference was observed with treatment K4 (70 % field capacity), which had the lowest crude fiber level. Crude fiber in forage feed refers to the indigestible fiber portion that remains insoluble in dilute acid or alkali. It consists of cellulose, hemicellulose, lignin, and other structural components of plant cell walls. Crude fiber is essential in supporting livestock digestion, promoting rumen fermentation, maintaining pH balance, and aiding intestinal motility in ruminants and non-ruminants. The crude fiber content in treatment K4 (70 % field capacity) was 26.12%, which is considered adequate for livestock feed. According to [Kerap \(2019\)](#), ideal crude fiber content in the forage ranges from 15% to 33%, depending on the forage type and feed processing methods used to maintain balanced nutritional value.

4. CONCLUSION

The analysis of various parameters—namely soil chemical properties, vegetative growth of maize plants, and proximate composition of maize forage—indicates that each soil moisture treatment (K1, K2, K3, K4) has advantages in different

aspects. The K4 (70% field capacity) treatment showed the most favorable results in improving soil chemical properties, such as increasing soil organic carbon, available P₂O₅, cation exchange capacity (CEC), and exchangeable cations, making it highly effective in enhancing soil fertility. Meanwhile, K1 (100 % field capacity), representing the optimal moisture condition, resulted in the best vegetative growth of maize plants, as shown by the highest number of leaves, leaf area, and plant height among all treatments. On the other hand, K3 (80 % field capacity) produced the most favorable outcomes in improving the nutritional quality of maize forage. This treatment resulted in the highest levels of nitrogen, crude protein, crude fat, and lower crude fiber content, making it ideal for producing high-quality forage suitable for animal feed. Considering all the observed parameters, K3 (80 % field capacity) can be regarded as the best overall treatment, as it provides a balance between plant productivity and forage quality.

REFERENCES

- Agviolita, P., Yushardi, & Anggraeni, F.K. (2021). Pengaruh perbedaan biochar terhadap kemampuan menjaga retensi pada tanah. *Jurnal Fisika Unand (JFU)*, **10**(2), 267-273. <https://doi.org/10.25077/jfu.10.2.267-273.2021>
- Al-Fatlawy, R.R., Hussein, A.H.A., & Satyanarayana, G.V.V. (2025). Studying the potential of biochar as a soil amendment to improve crop productivity. *SHS Web of Conferences*, **216**, 01016. <https://doi.org/10.1051/shsconf/202521601016>
- Antara NTT. (2025, Februari 18). *Disnak: Pengiriman sapi keluar NTT mencapai 45.670 ekor*. Antaranews.com. <https://kupang.antaranews.com/berita/148497/disnak-pengiriman-sapi-keluar-ntt-mencapai-45670-ekor>
- Anwar, A. H. M., Prasetyo, T. B., & Yulnafatmawita. (2024). Peranan biochar dan kompos dalam meningkatkan retensi air dan produksi jagung manis (*Zea mays L. var. saccharata*) pada tanah bertekstur kasar. *Jurnal Agrikultura*, **35**(2), 238–249. <https://doi.org/10.24198/agrikultura.v35i2.53995>
- Arvienda, M.E., Tejowulan, S., Silawibawa, P., & Sutriyono. (2023). Pengaruh modifikasi tekstur Vertisol terhadap pertumbuhan dan hasil tanaman pakcoy (*Brassica rapa L.*). *Journal of Soil Quality and Management (JSQM)*, **1**(1), 1–6.
- BPS (Badan Pusat Statistik). (2024). *Kabupaten Kupang Dalam Angka*. Badan Pusat Statistik Kabupaten Kupang.
- BSN (Badan Standardisasi Nasional). (2009). *SNI 3148.2:2009: Pakan Konsentrat – Bagian 2: Sapi Potong* (ICS 65.120). Badan Standardisasi Nasional, Jakarta.
- Chen, W., Li, P., Li, F., Xi, J., & Han, Y. (2022). Effects of tillage and biochar on soil physiochemical and microbial properties and its linkage with crop yield. *Frontiers in Microbiology*, **13**, 929725. <https://doi.org/10.3389/fmicb.2022.929725>
- Deribe, H. (2024). Review on effects of drought stress on maize growth, yield and its management strategies. *Communications in Soil Science and Plant Analysis*, **56**(1), 123–143. <https://doi.org/10.1080/00103624.2024.2404663>
- Farda, F.T., Wijaya, A.K., Liman, L., Muhtarudin, M., Putri, D., & Hasanah, M. (2020). Pengaruh varietas dan jarak tanam yang berbeda terhadap kandungan nutrisi hijauan jagung. *Jurnal Ilmiah Peternakan Terpadu*, **8**(2), 83–90. <https://doi.org/10.23960/jipt.v8i2.p83-90>
- Ghazi, D. (2017). Impact of drought stress on maize (*Zea mays*) plant in presence or absence of salicylic acid spraying. *Journal of Soil Sciences and Agricultural Engineering*, **8**(12), 661–667. <https://doi.org/10.21608/jssae.2017.37382>
- Hamadjida, G., Bitom-Mamdem, L.E., Temga, J.P., Sababa, E., Azinwi, P.T., Basga, S.D., Yaboki, E., Nguetnkam, J.P., & Bitom, D.L. (2022). Pedo-geochemistry of Vertisols under tropical seasonally contrasted climate, Northern Cameroon: Implications for vertisolization. *Earth Sciences*, **11**(4), 171–193.
- Harianti, D. (2023). Pengaruh pemberian urea kepada jerami jagung terhadap kandungan serat kasar, lemak kasar, dan total digestible nutrient. [Undergraduated Thesis]. Universitas Mataram.
- Hidayatullah, M.N.S., Andayani, N., & Yuniasih, B. (2023). Pengaruh volume penyiraman dan dosis biochar terhadap pertumbuhan bibit kelapa sawit di pembibitan pre nursery. *Agroforetech*, **1**(2), 860–865.
- Hussain, J., Khaliq, T., Ur Rahman, M.H., Ullah, A., Ahmed, I., Srivastava, A.K., Gaiser, T., & Ahmad, A. (2021). Effect of temperature on sowing dates of wheat under arid and semi-arid climatic regions and impact quantification of climate change through mechanistic modeling with evidence from field. *Atmosphere*, **12**(7), 927. <https://doi.org/10.3390/atmos12070927>
- Islami, T., & Utomo, W.H. (1995). *Hubungan tanah, air dan tanaman*. FKIP Semarang Press.
- Kabir, E., Kim, K.-H., & Kwon, E.E. (2023). Biochar as a tool for the improvement of soil and environment. *Frontiers in*

- Environmental Science*, **11**, Article 1324533. <https://doi.org/10.3389/fenvs.2023.1324533>
- Kalus, K., Koziel, J.A., & Opaliński, S. (2019). A review of biochar properties and their utilization in crop agriculture and livestock production. *Applied Sciences*, **9**(17), 3494. <https://doi.org/10.3390/app9173494>
- Keraf, F.K. (2019). *Memilih jenis-jenis pakan (Bahan ajar)*. Kementerian Pertanian, Badan Penyuluhan dan Pengembangan SDM Pertanian, Balai Besar Pelatihan Peternakan Kupang.
- Khan, M.A., Basir, A., Fahad, S., Adnan, M., Saleem, M.H., Iqbal, A., Amanullah, Al-Huqail, A.A., Alosaimi, A.A., Saud, S., Liu, K., Harrison, M.T., & Nawaz, T. (2022). Biochar optimizes wheat quality, yield, and nitrogen acquisition in low fertile calcareous soil treated with organic and mineral nitrogen fertilizers. *Frontiers in Plant Science*, **13**, Article 879788. <https://doi.org/10.3389/fpls.2022.879788>
- Latif, K.P., Kandowangko, N.Y., Ahmad, J., & Sija, P. (2023). Respon pertumbuhan jagung lokal pulut dan siropu Gorontalo terhadap cekaman kekeringan. *Jurnal Biologi Papua*, **15**(1), 11–18. <https://doi.org/10.31957/jbp.2373>
- Masria, M., Lopulisa, C., Zubair, H., & Rasyid, D.B. (2018). Effect of biochar and water level on increasing availability and water use efficiency for maize in vertisol from Jeneponto South Sulawesi. *International Journal of Environment, Agriculture and Biotechnology (IJEAB)*, **3**(3), 1064–1070. <https://dx.doi.org/10.22161/ijeab/3.3.45>
- Masria, M., Salli, M.K., Tang, B.Y., & Syarifuddin, M. (2021). The effect of biochar corncobs and rice husks on the chemical properties of vertisol from Kupang Regency of East Nusa Tenggara. *IOP Conference Series: Earth and Environmental Science*, **807**, 042026. <https://doi.org/10.1088/1755-1315/807/4/042026>
- Mulianti, M. (2024). Kandungan nutrisi silase jerami jagung (*Zea mays*) dan legum Indigofera (*Indigofera zollingeriana*) dengan kombinasi campuran yang berbeda [Undergraduated Thesis]. Universitas Islam Negeri Sultan Syarif Kasim Riau, Fakultas Pertanian dan Peternakan, Program Studi Peternakan.
- Mulyani, A. (2013). Karakteristik dan potensi lahan kering beriklim kering untuk pengembangan pertanian di Provinsi Nusa Tenggara Timur. In *Prosiding Seminar Nasional Inovasi Pertanian Lahan Kering* (pp. 593–600). Balai Besar Pengkajian dan Pengembangan Teknologi Pertanian, Kementerian Pertanian.
- Mulyanti, E. (2025). *Potensi Limbah Tanaman Jagung Dalam Pengembangan Ternak Ruminansia*. Balai Besar Pelatihan Peternakan Kupang. Accessed 15 July 2025 from <https://bbpkupang.bppsdp.pertanian.go.id/blog/potensi-limbah-tanaman-jagung-dalam-pengembangan-ternak-ruminansia>
- Nair, P.S., Menon, P.S.S., Suresh, S., Sreekanth, A.J., Sivasabari, K., Adithya, K.S., Anuranj, P.R., Krishnan, N., Parvathy, S., Chakraborty, S., Chopra, H., Akash, S., Amin, R., Dey, A., Alagawany, M., Chandran, D., & Dhama, K. (2023). Beneficial impacts of biochar as a potential feed additive in animal husbandry. *Journal of Experimental Biology and Agricultural Sciences*, **11**(3), 479–499. [https://doi.org/10.18006/2023.11\(3\).479.499](https://doi.org/10.18006/2023.11(3).479.499)
- Nurjanaty, N., Linda, R., & Mukarlina. (2019). Pengaruh cekaman air dan pemberian pupuk daun terhadap pertumbuhan tanaman sawi (*Brassica juncea* L.). *Protobiont*, **8**(3), 6–11. <https://doi.org/10.26418/protobiont.v8i3.36700>
- Nurlaeny, N., Setiawan, A., Kusumadewi, B.H., Riana, R., Dzulfikar, M.B.A., & Putra, R.M. (2022). Efek biochar pada berbagai persentase air tanah terhadap pertumbuhan dan hasil kedelai serta sifat-sifat kimia tanah Inceptisol. *Jurnal Tanah dan Air (Soil and Water Journal)*, **19**(2), 48–60. <https://doi.org/10.31315/jta.v19i2.9465>
- Nurtanti, I., Efendi, B., & Akbar, F. (2025). Penerapan inovasi teknologi pengolahan hijauan pakan (silase) pada Jamaah Tani Muhammadiyah Karanganyar. *Jurnal Pengabdian Masyarakat Bidang Sains dan Teknologi (ABDIKAN)*, **4**(2), 87–96. <https://doi.org/10.55123/abdikan.v4i2.5126>
- Poudel, R. (2023). Effects of drought stress on growth and yield parameters of *Zea mays*: A comprehensive review. *Agribusiness Management in Developing Nations (AMDN)*, **1**(2), 67–70.
- Prasetyo, B.H. (2007). Perbedaan sifat-sifat tanah Vertisol dari berbagai bahan induk. *Jurnal Ilmu-Ilmu Pertanian Indonesia*, **9**(1), 20–31. <https://doi.org/10.31186/jipi.9.1.20-31>
- Purwanto, P., Hartati, S., & Istiqomah, S. (2014). Pengaruh kualitas dan dosis seresah terhadap potensial nitrifikasi tanah dan hasil jagung manis. *Sains Tanah – Jurnal Ilmu Tanah dan Agroklimatologi*, **11**(1), 11–20. <https://doi.org/10.15608/stjssa.v11i1.204>
- Qomariyah, N., Ella, A., Ahmad, S.N., Yusriani, Y., Sholikin, M.M., Prihambodo, T.R., Retnani, Y., Jayanegara, A., & Wina, E. (2023). Dietary biochar as a feed additive for increasing livestock performance: A meta-analysis of in vitro and in vivo experiment. *Czech Journal of Animal Science*, **68**(2), 72–86. <https://doi.org/10.17221/124/2022-CJAS>

- Rattanaphaiboon, P., Homdoun, N., & Tippayawong, N. (2022). Production and characterization of corncob biochar for agricultural use. *AIP Conference Proceedings*, **2681**, 020034. <https://doi.org/10.1063/5.0117160>
- Salisbury, F.B., & Ross, C.W. (1992). *Fisiologi Tumbuhan: Jilid II*. (Trnaslated by Lukman, D.R.). ITB Press, Bandung.
- Shi, J., Mao, X., Jing, R., Pang, X., Wang, Y., & Chang, X. (2010). Gene expression profiles of response to water stress at the jointing stage in wheat. *Agricultural Sciences in China*, **9**(3), 325–330. [https://doi.org/10.1016/S1671-2927\(09\)60100-0](https://doi.org/10.1016/S1671-2927(09)60100-0)
- Sukmawati, S. (2020). Karakterisasi sifat kimia biochar dari tongkol jagung, cangkang dan tandan kosong kelapa sawit: Bahan organik menjanjikan dari limbah pertanian. *Agroplanta: Jurnal Ilmiah Terapan Budidaya dan Pengelolaan Tanaman Pertanian dan Perkebunan*, **9**(2), 82-94. <https://doi.org/10.51978/agro.v9i2.223>
- Utomo, D.H. (2016). Morfologi profil tanah Vertisol di Kecamatan Kraton, Kabupaten Pasuruan. *Jurnal Pendidikan Geografi*, **21**(2), 47–57. <http://dx.doi.org/10.17977/um017v21i22016p047>
- Wahono, E., Izzati, M., & Parman, S. (2018). Interaksi antara tingkat ketersediaan air dan varietas terhadap kandungan prolin serta pertumbuhan tanaman kedelai (*Glycine max* L. Merr). *Buletin Anatomi dan Fisiologi*, **3**(1), 11-19. <https://doi.org/10.14710/baf.3.1.2018.11-19>
- Widiastuti, S., Nugraha, N.A.P., Rani, D.M., & Rahayu, T.P. (2022). Evaluation of corn fodder hydroponic nutrient content as a substitute of forgive livestock feed. *Jurnal Ilmiah Peternakan Terpadu*, **10**(1), 28–38. <https://doi.org/10.23960/jipt.v10i1.p28-38>